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Name ____________________________ 

______ /80 points
Math HWK #8 Waves
y = Asin(Fx + P)

A = amplitude

F = Frequency

P = Phase 


Label & graph the following:

EX1)  y = sinx









EX2)  y = sinx




Label & graph the following:

1)  y = 2sinx
How does the graph compare to

y = sinx?
2)  y = ½sinx
How does the graph compare to

y = sinx?

 

Label & graph the following:

3)  y = sin(2x)

How does the graph compare to

y = sinx?

4)  y = sin(½x)

How does the graph compare to

y = sinx?


Label & graph the following:

5)  y = sin(x + ()

How does the graph compare to

y = sinx?

6)  y = sin(x + (/2)

How does the graph compare to

y = sinx?

 

Label & graph the following:

7)  y = 2sin(2x + ()

How does the graph compare to

y = sinx?

8)  y = ½sin(½x + (/2)

How does the graph compare to

y = sinx?

Graphing the Sine and Cosine
	Before you can fully understand the behavior of any sort of function, you have to graph it. In the case of the trig functions, the graph is pretty easy to draw if you look at the unit circle for a while. The strategy is simple: start out at q=0o, and follow the unit circle around, watching what the y-coordinate does (for the sine, that is; watch the x-coordinate for the cosine). I'm about to do the sine: follow me, around the unit circle, then try to do the cosine for yourself. 


	

	Sin 0o is zero, as you hopefully figured out for yourself by looking at the unit circle last page. Sin 90o is 1. In between, as q moves from zero to ninety, the y-coordinate on the unit circle is constantly increasing. So the graph starts out like: 


	[image: image1.png]F=sinix]






	Continuing to follow the unit circle around, as q increases to 180o the y-coordinate drops to zero: we're now at the point (-1,0) on the unit circle. As q keeps going from there, the y-coordinate doesn't turn around and go back up to one; it keeps going down, reaching -1 when q gets to 270o. Then the y-coordinate turns around, and reaches zero again when q is 360o; we are now, of course, at exactly the same place on the unit circle that we were at when q was 0o. So the full sine graph looks like:

	You can keep on going from there around the unit circle, retracing the path around and around; so the graph repeats itself indefinitely.
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